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=
∑ (1 + 𝑖)−𝑗𝑦𝑗
𝑘
𝑗=0

∑ (1 + 𝑖)−𝑗𝑓𝑗
𝑘
𝑗=0

1

𝑓/𝑦

𝑦𝑗 𝑓𝑗

𝑓/𝑦

Ֆիսկալ քաղ. 
սցենարը 

Ֆիսկալ քաղ. 
փոփոխականը 

1եռ. 4եռ. 8եռ. 12եռ. 20եռ. 

Կառավարության 
ծախսերի 
ավելացում 

ՀՆԱ 0.34 0.39 -0.13 -0.24 -0.03 

Հարկային 
եկամուտներ 

0.00 0.00 -0.25 -0.38 -0.33 

Կառավարության 
ծախսեր 

1.00 1.00 0.9 0.6 0.3 

Հարկերի 
նվազեցում 

ՀՆԱ 0.21 0.52 1.83 2.03 2.33 

Հարկային 
եկամուտներ 

-1.00 -1.00 0.33 1.00 1.06 

Կառավարության 
ծախսեր 

0.00 0.00 0.33 0.38 0.46 

Կառավարության 
ծախսերի ու 
եկամուտների 
ավելացում 

միաժամանակ 

ՀՆԱ 0.11 0.32 -0.21 -0.25 0.23 

Հարկային 
եկամուտներ 

0.00 0.05 -0.02 -0.11 0.21 

Կառավարության 
ծախսեր 

0.00 -0.09 0.22 0.11 0.15 
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